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Intro

Today we will 7"va learn "> 97 of main> naon
Some of the topics we will learn about include;

The x» will present a X921 with 3 groups of woman
who do not receive a ©ip for Tnow OIR

1.7

2. A 753, or a woman that is 75wa npina

3. Amvporanmni

9N Mayv 1Y PR 02

The x5 will explain that by
NS NNo NIYL

We say

D'5n2 mIvv 1> PR

However, by

DT MYV

We say

ohmnanv b w

A npbmn if a mmaw receives o3p for inom IR
One opinion says that she is

a%na npina

And receives a Oip

And one opinion says that she is

12102 NPIN2 NG

And she does not receive a ©ip

mrnnaTarhop

If a person did an act that had 2 m~2y in it and would be
2 271 punishments, he is given the more severe punish-
ment.
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So let'sreview ...

Our 97 begins by presenting a Xn»72 with 4 cases where
there is no ©3p for InNoM OIN:

[AmpRbis!

The 1st case is;

YIRS NI NI

N9 RS 01 R 171D PR

The xm presents 2 explanations for this based on a
Machlokes taught on v q7:

The Pasuk states;

RS PN

He is required to marry her.

AIRIDT YDV

TN N1 VY NUR

i YW says the Pasuk teaches that she must be a
woman whose yw17p is effective. This excludes from ©3p,
awoman who is mn»>°217m, and certainly p7 772 N arn,
because,

TN PR

Her Kiddushin is NOT effective.

Therefore, when our Braisa says;

b nrIw M

o R OIP R 170 PR

nw refers to PIDAMDN 20N and

nmw refers to mn™5°270

However, for 785 7270 there is a ©3p for nnom IR,
because,

mnnaw

Her Kiddushin IS effective.

AIRRNDVIN A PYNY 27

7RD IR OR

N'0IM 12 YW *217 says the Pasuk teaches that she must be a
woman whose marriage is permitted. This excludes from
DI even YY) PIRY 7277, because,

ﬂD”P’? MIRT PR

Their marriages are prohibited.

Therefore, in our Braisa;

Ny refers to M2 °27M PT A MNN 020N

nriw refers even to IR 727N

However, nyiw cannot be understood as 13237» nviw,
because 7N » they are m>»p5 X7, and certainly 72 v
.
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2 explanations
based on a Machlokes:

SR FPr T

I NVDD 13 PP 29 A NN PP
ﬂ?:“P‘? MR AYR AN R U AN

Lxcludes Lxcludes
PIRS 2N mn»™>3 27N
nwY 27N PT P2 NN N

IR NPR N2 PR
m”pY N

9N
P72 M AP
mn"d"N2m oy

AMYS Pen
DIp N I PN
N0 N9

M7
17T D2 MM
]’1&'7 227N mn"M>D27nN
ﬁyﬂ cannat be
PP /yé,
because DD N
fﬁegx are spp/ >t

PIRY 21N
thereisaDJp
because,
mn na w
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The xn»12 proceeds to the 2nd case;
IR
N0 R OIp RY D PR

The xm3 presents 2 Machlokos related to this teaching:

1 - Whether there’s ©1p for 1nom oI of a 1vP?

The 1327 hold that both, a 771 and a mvp receive oIp.
R 17 holds that only a 79v1 receives ©1p, but not a Iop

2 - Up to which point is a girl able to do pxon?
77 °17 holds that a 730p and a 77p3 may do px'n
“R1 27 holds that only a mvp» may do px», but not a 793

Therefore,

TIRPDA

1O R OIP R 15 PR

According to 7R» 17, because she’s a mop;

According to 13127 and 777 °27, because since she was
married she is 751 npina, and only a i,na receives a IR
for 1nom OIR

The xn>12 proceeds to the 3rd case;
IR
1o R 03P RY O PR

The reason for this is because an "n5”x goes from being a

mvp to being a N3, because she has no 03>»'o, and our
~in holds that only a mvireceives ©1p for N9 OIN.

2

nINAMT
"D N9 1P XD 1D PN

2 Machlokos

related to this teaching:

@

Whether there’s Dp
fornnom paN of aniwp?

2N 79 VW

Only N
anmy  &mop
receives receive

o1p op

She’sa
v

Since
shewas
married

sheis

npm2
n21L2

©)

2N 79
Only
amop
may do
mwn

She’sa

DaNpRR D

o PN
DIp XY
"D K9

DN

Up to which point
is a girl able to do pnn?

DI/’ D2

mop
&Nyl
may do
mwn

Since
shewas
married

sheis

npih2
nN21IL2

"D 89 03D 89 19 N

Because an ma>»N goes
from being anvp to being a man,
because she has no DD

Owr gjﬁ holds, that on%/a/ Day

receives op /or 2N Y
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The R ) presents a related discussion:
We learned in a Xn92:

PY DO N2 TOWM NWINA

o5na Mo 10 PR

The X2 explains that by a nna sometimes
ooinanv W

And sometimes

o5na mvv 1% PR

If the o>1na mayv is

mno NNo MYv

Then we say

o5na mipv 15 PR

Because by a mna

mno nno

Does not indicate anything

However if the 5na miyv is

D17 NIYY

That she did not have any o7, we say
ooinanyv M W

Because even a N2 who is a n5ina has o7

Regarding a \mo there’s a npiomn
The 8»p NN says

oM myo o w

PRI 27 says

o'Ina Navv 15 PR

The Rm) explains the reasoning of xR» *17;

YRR 723 HY nLAMW 101

She may fall to the ground, and

7RI PR

TIORD IR PR

Since she is blind she will not see that she bled and will
not be able inform her mother, and so she will never come
to know what happened to be able to inform her husband.
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The xn»1a proceeds to the 4th and final case;

V7 DV DIV DRIV

No RS OIP RY 7D PR

The X1 explains that this refers to

M7 07 DW HY RYW D

She had a bad reputation for inappropriate behavior.
Therefore, she is assumed to no longer be a 1, na
The R explains that the v ow is based on
RNORLMINYAN HPTTY IR AN 2 INRT

Two o7y testified that she sought them to do an 77ay.
However,

RIT RO mOY poIT

A mere rumor is not accepted for her to lose ©1p

The Rm) proceeds to the next 3wn

The mwn presents cases where there’s no ©3p for onx
nom

IWN T OPRT

03P 170 PRY ORI

MW Y1 112w SY NN Sy Ran

TINNWIVT IVINIW) 17O

TR 0N O30 WHW M2 by M

The following do NOT receive o3p:

A non-Jewish woman, who converted, or an abducted
woman who was redeemed, or a maid-servant who was

freed, after they were already three years old, because we

assume that she is no longer a 75102

AN AT 27

AW 9 HY R ANWITRA R0 IO AW

A miaw does receive 03p, because we do not assume that
she is no longer a n»na.
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o PN
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VI OV NYHY RO M
M7,

Y1 OW

4 based on
MINNR) N 22 INXRT

NMTTH
RIDXR2 NINY2N

A mere rumor b not accqbfe/

%f/r her to &W\O//’)

yg/‘/
10Ip 1119 PN N

nan 5y 8o
ANaRT S
Rl ki

R
IR
RRTe TRl

ANs 5y Moy
SN DM DR e

We assurme

she iy no (bn?er a rs

W DZ/D’

NMDIY MY
MO N1
oV 0B Oy AN

We dy not assume

she iy no /bn?erws)&p
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The mwn proceeds to present cases of N1y

M35 RIN

manaby

1In25Y

noR N1

WOI I INHW 1191 OIR 1D PR

The mwn explains

PTITINNDY

PP DOWH PRIWHIL 1IN N

WIV WNY POR 77 RO IDRIW

The ,oo is saying that a person is only 271 to pay for
hitting a woman and causing her to miscarry, if she did not
die from it.

However if she died, the person is 77 2 nrn 271, and is
not 271 to pay for causing her to miscarry.

The X713 begins by presenting 2 opinions for why 777 19
holds

AW 0 Y 4R ANWITRA K7 I IPTOIW 712w

13N 27 says

YR ANWITRA

Because, we do not assume that an 772y was done with
her; and therefore, if she was married to a j03;

1IN NOIIR AW

127 says that generally,

moWa NptRA N RN

We do assume that an 772 was done with her; and
therefore if she was married to a >,

NN NOIR APR 1AW

And the reason for

ANWITRA RN

That she receives 01 is because

W1 ROIN RY ROV

A person who does an 772y should not benefit from it.

‘N2 N2 5y ,na Sy o
AN NS e na by
DIP M9 1N
WBIS SNMNNE 13BN

Aafav=Rai-KialaVal
WHI2 3*RnnT 99
1ot DR PN
44
it L5 fToR e K

2 opinions for why n'in )Y holds..

nDIY MY
MR N1 N
oY 0B O AN

202
N2 1PN
N2 NP2

Therefore,
if she was married
toa)nd;
NOR NPR MW
NN

Wremw/or
3)/)5/57),3 A7 9D
& because
2 £l 5 tA
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Therefore,
if she was married
toa)nd;
NooR MW
ANIN2
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